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STHTAS\LBES WEIERUI-BEXFISEH SXRZFFPCGIES
AR ()

XX 9 8 & ® B REEREHE | fIEEREEH =7 =2
ZEEEUNA 18, 097, 465 18, 682, 699 /\ 585,234
NEERRINA 4, 367, 040 4,111, 560 255, 480

i EEEE A (1) 22,464,505 22,794,259 A 329,754
g ANEFEZH 18, 353, 439 18, 949, 041 A\ 595,602
Hé EXEH 2, 824, 866 2, 494, 698 330, 168
g?g EiES%H 40, 000 40, 000 0
EREE ZHE  (2) 21,218,305 21,483,739 A 265,434
FERFINETR3)=(1)-(2) 1, 246, 200 1, 310, 520 A 64,320
E EEFESN DA (4) 0 0 0
g SRR ASSZ T 1, 246, 200 1, 310, 520 A\ 64,320
% EXFPN HE (5) 1, 246, 200 1, 310, 520 A 64,320
@ | EEEMHREEEE)=4)-O) A 1,246,200 | A 1,310,520 64, 320
RN ZE(7) 0 0 0
5 BB AR (8)
x BR EHEH  (9)
%fg RN SZ Z A (10)=(8)-(9)
LHAEENINZ Z%E(11)=(7)+(10)
%ﬂz AR = (12)
B | sk EBIREE(3)=(11)+(12)
gwé REFRHCEENIN T ZHR(14) = 13)




